Population Graph Answers 
1. 80, 000 (C)
2. 100,000
3. Decrease in Fox Population (C)
4. The Rabbit Population would Increase (B)
[bookmark: _GoBack]*Less foxes would be eating the rabbits. The foxes are being hunted for their furs. Therefore, the rabbit population would increase.
5. The foxes go through cycles of increasing and decreasing slightly after the rabbit’s cycles of increase and decrease. 
6. There is more food available (rabbits) for the foxes, so the foxes start to increase. 
7. 20,000

